PATTERNS OF TRAVERTINE

57% 12X12 29% 6X12 14% 6X6 SOLD IN LAYERS OF 8 SQFT

- ROMAN PATTERN FORMULA -
Ex6
12x12

EXAMPLE
12x12

83

2000 SQFT * .57 = 1,140 SQFT
2000 SQFT * .29 = 580 SQFT
2000 SQFT * .14 = 280 SQFT

12x 18 6x6
6x12

FRENCH PATTERN COMPLETE
SET IS 8 SQFT. EXAMPLE SHOWN L
IS TWO SETS (2 LAYERS ON A s
PALLET) MAKING 16 SQFT. T ——
PATTERN MUST BE FOLLOWED SIS

TO BE LAID ACCURATELY

French Pattern

12x12
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JAck-oN-jAcK RuNNING BOND Diamonp

ll T |
CHECKERBOARD HERRINGBONE BASKETWEAVE

1-6X6 TO EVERY 4 - 6X12
SOLD BY THE SQFT OF JOB




